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1. 2ulls glgl aulire Rigia 22l 14
Discuss the neo-classical model of economic growth.
AYW/OR
() 2uylHs qla-tl el 20l @aell A4l 7
Give the meaning and characteristics of modern economic growth.
() s 2lBLs glatl Rigid Amenal. 7
Explain the Harrod model of economic growth.
2. A5l 2 qlg 20l da-l2l2 iua Rigidd dlsics yeis s 14
Critically examine the Pesinetti model of profit growth.
AYQW/OR

sl dla Hisa 22l
Discuss the Kaldor model of growth.

3. wplenl 20 il d-l Ge ol Al 14
Explain the meaning of economic planning. Discuss the objectives of planning.
AYW/OR
aRdld gy diordiAl Gal i Rlgil 2l
Discuss the objectives and achievements of Indian five year plans.

4. eyfasd sl Hie [asg oisdl Azt (@9l g quil. 14
Write a note on World Bank policies in developing countries.
AYQW/OR
alRdld eddaal dAeclii WTO4, yeuis s
Examine the role of WTO in context of Indian economy.

5. <2 2ude wsldAl 4oy [aseu uie 530 ddl e dHIFl Garadlui dvil : 14
Choose the correct answer for each of the following questions and write only its
number (a, b, ¢, d) in your answer sheet :

(1) Al 9le Hsaxi HaLels Geaule @8y
(a) Ax-4dl QiR (b)  HSl-aH deldUl 3251+ €2
(€)  Hdl-GeuleA drldR (d) 2slsa wala
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In Solow’s model of growth, the output per capita is a function of

(@ labour-capital ratio

(b) rate of change of capital-labour ratio

(c) capital output ratio

(d) technical progress

Wl 2slsd 351 ¥ [Rursiil 5351 sul R 4y Gaued >0l ¢ d-l
(@2

(8) Hd @3u (b) 2¥4d 23U

(€) Gu-ll (a) 2 (b) oiq (d) lsu Al

A technical change which permits more output to be produced from unchanged
inputs is considered to be

(@ embodied (b) disembodied

(c) both (a) and (b) (d) None of these

s gl 4 Msanl G ardlds qlger 8, G, »uaws g 2 8, G,

serdl ala 82 9. YRAR 9lg 2 vidIl 2uU 9, R

(@ G=G, (b) G, =G,

(c) G=G, (d G,>G,

In Harrod’s model of economic growth, G is actual rate of growth, G is
warranted rate of growth and G, is natural rate of growth. Steady rate of growth
is ensured when

@ G=G, (b) G,=G,

() G=G, (d G,>G,

“yael 3orr d uRReldAd =gu 9 2R

(8) dlg-l geadl &2 2ua9us qlg el a4l 2nu.

(b) alal Ardlas 2 2was 9lg el addl .

(c) 2uaus dlg o2 gerdl glg el adl .

(d) ARz 2nas-l dardlas 9l €2, 2waus qlg 62 21 gerdl 9lg &2 oal
VSALAL SlY.

“Golden age” corresponds to a situation where

(@) Natural rate of growth exceeds warranted rate of growth.

(b) Actual rate of growth exceed warranted rate of growth.

(c) Warranted rate of growth exceeds natural rate of growth.

(d) Natural, warranted and the actual rate of growth of national income are all equal.

S[red Ul quid ©

(8) dat uR ARSI, Ayel [l gl

(b) AlssA Wgseld Al

(c) uadly ol viedl A Wil Guassdl

(d)  2URLs uuRIveL 2 AR5 Helellspidl Guasdl
Centralised planning refers to

(@ Complete government control over the economy.

(b) Planning specific projects.

(c) The provision of the general frame work for the Five-Year Plans.
(d) The provision of economic projections and voluntary guidelines.
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[a5Ria satimi gle ed M2 @ol ulReus

(@) AM Gauesdl adl adRl. (b)) 33l AAdlswemi qaRl.

(€) Aaudd- 2 2sldlw (d) [AsAHl w4817 Mee

Growth in developed countries is now mostly the result of

(@) rising labour productivity  (b) rising capital accumulation

(c) innovation and technology (d) government assistance in export

SR HIlgEmi

(8) HidL dxy YRasML atIRl sal YSRisweL #3730 .

(b) atdl YS-Geuled dRldR ol % Mt ©.

() [Brve vtelanal 2Aysluel Arkigz 54 ©.

(d) 351 2deurat Ayslusl sty .

In Domar’s model

(@) investment is needed to increase demand as well as supply.
(b) there is great emphasis on increasing the capital-output ratio.
(c) the classical economics is completely rejected.

(d) the Keynesian economics is completely rejected.

[as1a8l 2d -l 218 el Hewaddl Gga

(8) Gl wHRMi 2R AHAdLAl vid?l 24l

(b) Ay MMl 2uBls (s 2 glgl vial suudl.

(€)M A HSR1s10L Hilel UHISHL Ald d-l el sl

(d) yel Axoul M2 ay dasl yl wsdl.

The most important objective of development planning is to

(@) ensure a greater degree of economic equality.

(b) ensure a higher degree of economic growth and development.

(c) make available larger provisions for capital formation and investment.
(d) provide greater opportunities for full employment.

clRdld way gy dioreldl 2HR

() [&ldlls, [Ruorsl-Goauled i

(b)  &AI-3HR LA

(€) Helatloue [g-a-lla Hise

(d)  HelddlBag AR-a-{lu Hisa

The First Five Year Plan of the Government of India was based on
(@) Leontief input-output model.

(b) Harrod-Domar model.

(c) Mahalanobis two-sector model.

(d) Mahalanobis four-sector model.

21045 glg w1

(a) sl g2 g

(b) HUgssulodl g2 %
() sMast-l azdemi x4
(d) AdaAdl g2 %g
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With economic growth there is

(@ A shift away from agriculture

(b) A shift away from manufacturing
(c) A shiftin favour of agriculture
(d) A shift away from services

(11) ¥4l A2UHL A9 20 O
(8) Ardlds oludHl asRl sl
(b) etad- aulalla s2dl.
(€) cAd ySlRiseL
(d) GU-L o4l %
Accumulation of capital involves
(@) Increase in real saving (b)  Mobilisation of saving
(c) Investment of saving (d) All of the above

(12) uald il duid o

(a) Awlls uuleq (b)  daald sudleq

(C)  dietolo, U< (d)  Gu-l visusl s
Perspective planning refer to

(@ Annual Planning (b) Five-Yearly Planning
(c) Long Term Planning (d) None of the above

(13) gy ulRdel uReud g ARAAHL w1y ?

(@) IMF (b) IBRD
(€) Gu-ll (a) 2 (b) oiql (d) lsu Al
The Brettonwoods conference led to the establishment of
(a) IMF (b) IBRD
(c) Both (a) and (b) (d) None of the above
(14) WTO+, Y3 U™
(a) a¢d 21dd qUEA (b) acd 2[5 dldPHud
(€) aed 23 PLAUSHAA d)  aed 23 lEu
Full form of WTO is
(@ World Travel Office (b) World Tariffs Organisations

(c) World Trade Organisation  (d) World Trade Office
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